%mgw;ié “szﬁ k4 p 9/ %/éf @
$3./#/0
(a.) Ly 3/9;72 of %ﬁmg&d&é +o }/ //f“ ot /:amf M‘ier@ X = CL

Fla)zm= Jim (x~{%7

=3 O\ O
- ( Vs -\
x—>a X - a,

.QHE’);? = S/u;ﬁé o/ A@ﬁ—;;%?é e & v= W af[@

(b,) {/ﬂ;?? fzﬁ !&Q‘f?f‘ ffivpﬁ‘ ﬁf"&wﬂi@ ﬂw;:,rzb e cﬁ%x’h/
A () Y = 1+ f’f.n{x»f) =/~ 4(x=1) =Y ]
ﬁr[yj/ﬂ) Y = g'f * “F\ifi?jﬁg“(f) V-#(x—-%{}ﬁy7

ggﬁ?ﬁéﬁé @éu Cem/é/ fi*a aﬁ@féé&’é “%{f oﬁ?&m %@
O‘/ﬁéf, i@aﬁaﬁf@f /?a/w?é?m
Q==

rfe af /’& Seme cé%w‘é? a

=
f'r-%ﬁ




@

Lef' H(f/:: /02" "/gg/fz ée /Dor/,’ﬁ?'an above S“U\/%iﬂifié
q[) ”7&(;(’ Wi';@r@ %z f{A/ACL Is a./é M:“ Q.

(a) (1) = Jim [10012H) =186 (15)" = (o ~1.88) 7
h J

= fim [—;&Hob ~L %6372k —/.yg,f,zfm//,a?
/7 ———

hAh—0

A&”{)[/O“??&—/%A? =/ ??Qw
(é) V(a) = [/m [/O(Mh “/3640(1";,]; _(oq ) %a‘]

h"?g }’2

f,,a g/-r/O/q—/ @ ~2.72ah - /ggéz~/,oﬁ/+/}zf]
h*—%j h

“’,ﬂmf,[ [0 -2 73a ~/}é/)] 10-3%3 = V(@)

(c.) H=0 =10t-184¢°
A10-1.064) =0 - f =0 44 :-Lg:

/ \ ~ :

[‘/},4“‘;@%&,} e i m/;j[} 7o ;cf;én
E, = Ef

7| ksl -
-

S FE; = Pg‘
o\éfﬁ,ssfbﬂ dm'}

Worf% )




